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o FUAT AT A o foh 30 WRA-IF H HAlad Is5 8 AT 9 15 ¢

Please make sure that the printed pages in this question paper are 8 in
number and it contains 15 questions.

o UHA-UF H ligsl BIY I IR G a4 #Is 7ok AT AT AT BT FTR-GIEcdl &
ALT-gvs W fod|

The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o YA T HT 3R Gl YT Fel @ Ugel, Wl HT HATH ey fAd|

Before beginning to answer a question, its Serial Number must be written.
o SR-GREAR & @ HA Grell Yoadl / Toed o DI

Don't leave blank page/ pages in your answer-book.

o IACYREAHR & IHARFT FS 3w e A& el 3T JraeghdEaR & fod
3R forgr 3R 7 #e|

Except answer book, no extra sheet will be given. Write to the point and do
not strike the written answer.

o TETt YA AT o YA-IF X 39T AW| AT o F 3faRaad ya-99 9w
3T Fo ot 7 A 3R dofeus weal & IR W fhdT g &1 e o oy |

Candidates must write their Roll No. on the question paper. Except Roll
No. do not write anything on question paper and don't make any mark on
answers of objective type questions.
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o FHUIT U & IR &l W G TE ARG X o b TReA-9F qUT T HEY g, T

F IWed 30 TFa- & HE off grar Ther J8 fFar s

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

NOTE: The question paper is divided in to four sections (A, B, C, and D)

i)

i)

i)

SECTION A consists of 1 Question (10 Objective Type Questions of 1
mark each).

SECTION B consists of 4 Very Short Answer type questions of 1 mark
each.

SECTION C consists of 7 Short Answer type questions of 2 marks
each.

SECTION D consists of 3 Essay type questions of 4 marks each with
Internal Choice.

Al Ul 97 IR @sf (A, B, C, D) & sier Im gl

YFAT A o 9T FCIT 1 H 1 37 & 10 TEJASS YR & T2 gl
YRAT B & 1 3ih & 4 31(d oY 3R TR & 98 ¢

YA C H 2 3Rl & 7 Y 3T ThR & 92T &

AT D & 3dRF [ahed & T 4 3T & 3 AGT ThR & 9 ¢

SECTION-A

1. All questions are compulsory and carry 1 mark each. 10

gt ue ATy § 3R g+ 1 315 F7

i. What does SMTP stand for?
SMTP &l 9 &9 47 §7?
a) Secure Mail Transmission Protocol / &Y Hel THA WeThiel
b) Simple Mail Transfer Protocol / f&9el #el THHT Frehicl
c) Server Mail Text Protocol / HaX Al TFEC Helhich
d) System Maintenance and Transmission Protocol / f@¥ecsd Hcaid Us TR
FICarc)

ii. Which SQL function is used to retrieve the maximum value from a given

column?
T 8T 91T column & 3I&HdH AT Utd il & v 7T SQL e FT 39ATET
fopam STar &7

a) AVG( )
b) MIN( )
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c) MAX( )
d) COUNT( )

iii. If the elements “27, “7”7, “5”, and “8” are placed in a stack and are removed one
at a time, in what order will they be removed?
gfe element "2", "7", "5", 3 "8" # T stack H W AT & 3R TH IR H geT
fear Jrar §, ar 3¢ e sA H geram Suen?
a) 2,7,5,8
b) 8,5,7,2
c) 7,2,5,8
d) 5,8,2,7

iv. Which of the following is not a valid mode to open a file in Python?

sy # BiEd We & v Aeafafad § @ sl @1 v du Az a8 2

a) ab
b) rw
c) r+
d) w+
v. Full form of LAN is
LAN T el B g
vi. command in SQL is used to modify existing record.
SQL & #isier Repis &l HAMfET &t & fow HATS 1 AT fHAT ST B

vii. A NameError occurs when division by zero takes place in Python. (True / False)
Y= ¥ farsteT Python # NameError 3cdest &l gl (T / 31HA)

viii. Opening file in append mode erases the previous data. (True / False).

WSS &l 3795 Als H Wil I dg WS 31 & Her &ar g1 (T / 39T )

Direction (for ix and x):
In the questions given below, there are two statements marked as Assertion

(A) and Reason (R). Choose the correct option out of the choices given

below in each question:
fader A U arw ueat &, s (A) 3R #RoT (R) & & & RAEAd ar saa £
Tl 9T H A 8T 9T fQpeul F & TE Q[ehod &7 IIT HITAT:

ix. Assertion: The INSERT command in SQL is used to add new data to a

database.
Reasoning: INSERT is primarily used for updating existing records in a

database.
.  Both (A) and (R) are correct and (R) is correct explanation of (A).

[I.  Both (A) and (R) are correct and (R) is not the correct explanation of
(A).

lll.  (A) is true but (R) is false.

IV. (A) is false but (R) is true.
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FYsT (A): SQL #H INSERT command T Sered & 4T 3¢T Siiga & fow 3udier

o STar &
FRor (R): INSERT H&T &7 & Scad # Hlsal Repis 1 93T et & faw 3uer
o Sar &

l.
Il
Il
V.

AR (R) =t |8 & 3R (R), (A) T &gl <arear gl

A) 3R (R) 3t @& § 31X (R), (A) & |1 sarean @t &
A) IcT § ok (R) 31T B

)

(
(
(
(A) 3/ 8T § AfdeT (R) acT &1

x. Assertion: Antivirus software is essential for protecting computers.

Reasoning: Antivirus programs help to detect and remove harmful software from

computers.
l.

1.
V.

Both (A) and (R) are correct and (R) is correct explanation of (A).
Both (A) and (R) are correct and (R) is not the correct explanation of
(A).

(A) is true but (R) is false.

(A) is false but (R) is true.

FYA (A): FYX A F&T F AU TETRRA WFCII IHcdRe aeTH ¢
FROT (R): TEARRE YHITH Fged § giiaqul AFedIN & qga 3R ge # HAeg

N &l

l.
Il
Il
V.

SECTION-B
(3reTTaT-q)

All questions are compulsory. Marks are indicated against each question.

Tl geeT FAaRT & e U & 37k 3% THA QU T g

2. Name any two file processing modes in python. (1 mark)

qrsYeT H fohegl g wrsel NATAT Alg & A1 ford|

OR / =T

Define exception.
TFACele Sl IRATT H<|

3. Define Data. (1 mark)
3cT & IRANT |

4. Name any two network topologies. (1 mark)

Rl

a1 Acas Addiel & A1H faf@e
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5.

Write full form of FTP. (1 mark)

FTP &7 $or wisl ford|
SECTION-C
(3reTeITeT-Y)

Marks are indicated against each question.

I YT & 37 3T THA U T §

6.

Write the syntax for the following methods used for file operations in Python:
9T H WISl IR & oI 393191 diF A1 arelt o1 fafaat & for Rt
ford:
a) open()
b) close()
OR / =T
When are the following built-in exceptions raised in Python?
qsYd H fAfaf@d Wes 37 tHawe &d 3310 STd 87
a) ZeroDivisionError
b) NameError

Explain the syntax of the SUM () function in SQL with an example.(2 marks)
Teh 3GIe0T & AT SQL & SUM () warieT & bced & carear H|

Name the main components of data communication? (2 marks)
3 AR & ALY "l F1 A1H faf@u|

What is a computer virus? Name any two computer viruses. (2 marks)
hTYET dRRY FAT 8?7 Thegl al HTge ardl & A qaisy|

10. Write short note on the following: (2 marks)

11.

fAFIfafE@d @ afeieq fecaoh faf@T:
a) HTTP
b) Bluetooth
OR / a1
Write short note on the following:
fAFIfafd @ gfareq fecaoh faf@T:
a) FTP
b) WLAN

Raghav enjoys exploring different websites to learn new things and play online
games. One day, he receives a pop-up message on his computer screen
claiming that he has won a free gift card to his favorite online store. Excited,
Raghav clicks on the pop-up to claim his prize. (2 marks)

Tag A3 Ol @@ 3R ST Wall FT 36 ol & fav Affea Jaarser #r



12.

TFECAR el I el AT §1 Teh o, 38 30T oYX Thled T Teh AI9-319 FeRTr
fAerar § f99d grar fvar Srar § 76 98 39« qudler Jiednsd &R & Qv
A¥a fige #15 fa T ar B 3cge G, Tud 9i9-3q W Faw Fwar § e a8
3T SATH 9Ied X Tl

I. What type of cybersecurity threat is Raghav most likely encountering in
this scenario?

A) Virus

B) Firewall

C) Cookie

D) Adware

3 ToUfd & o ged 31 danfad §9 @ fhd R & TZeR Gt Tk H
HIHAT T T@&T 872

A) "

) rRRGEre
) Fehr
)

O W

9

D) TSN

Il. What could happen if David's computer becomes infected with malware
from clicking on the pop-up?

A) His computer might get faster.

B) His personal information could be stolen.

C) He might receive fewer ads.

D) He could win more prizes.

qET & HYX UT-319 W Feleh Hla & AT § HHIA g ST &, o 1 g
Hehell &7

A) 3HHT HTYX Tl 8 Hehll g

B) 3T ATFAId SIeTehRT ART & Hehall &1

C) 3¥ & s B Tod &

D) 3¢ 3R 3% &R el Fohl ¢

Rohan is a curious student who loves learning about different types of

communication technologies. One day, he decides to research how data is
transmitted over the internet and devices through cables. While exploring
various online resources, Rohan comes across some units by which we can
also measure the speed of this transmission. (2 marks)

gt T oI o § i [affiesd 9ohR 1 HuR deheliehl & aR & d@elr g
AT gl T f&eT, a8 MY Fkel HT1 Bl Xl ¢ [ dhael & ALIHA F Sedele 3R
3YRIUNT OX 3T hd JATRA fohar Srar g1 et 3iidars garyg«r Hr @ref ald
THY, gl 1 FO hedl Heldl § [SeTeh SanrT g/ 0 JaROT &1 a1 1 8 &
Tohd &

I. Which of the following communication technologies uses physical cables to
transmit data signals?



13.

14.

A) Bluetooth

B) WLAN

C) Infrared

D) Twisted pair cable

rAfaf@d & & Fid I IR dFelie 3T B TaRd aal & fov sifas
Shelel I 3TATT Il g7

A) T

aN

B) WLAN
C) 3%
D) ¢fa¥es 3R hael

Il. Which unit is used to measure the speed of data transfer in bits per

second?

3¢T W] & Iifa & focw afa d%s & A & fov fra sog &1 3uter foear

SATT 872

A) Hz

B) KHz

C) Mbps

D) Nbps
SECTION-D (31?_|1'3111T-:=?r)

What is Queue Data Structure? Write a python program to insert element in
a queue. (4 marks)
FY 3¢ FFR T §? Toh G H U So0¢ el & ToIU Teh il WA
forg |

OR / a1

Explain Selection Sort in detail with an appropriate example.

Teh 39 3CTEX0T & HY selection HIE & fAEIR & FHAT|

Explain with an example: (4 Marks)
a) Primary key
b) Degree of a relation
3eTeR0T Higd FHSAT
a) IISHAY Hr
b) T RerereT / et Hr B3l
OR / a1

The XYZ Corporation maintains records of its employees and their dependents

in

two tables: EMPLOYEE and DEPENDENT. The tables contain the following

data:

XYZ S1aRee 39a Al 3R 39 3nf8al & Reis EMPLOYEE 3iR DEPENDENT
al cgog H garar g1 Aeafaf@a ser escw & afaa §:
EMPLOYEE Table:




a) ldentify candidate key/s in the EMPLOYEE table.
b) Using the provided tables, retrieve the name and relationship of all

dependents of employee Priya.

c) What is the degree of DEPENDENT table?
d) What is cardinality of EMPLOYEE table?

a) EMPLOYEE <o # $f33c &holl T ggarel +i|
b) WereT fFJ T T T 3TN dah, FHHART AT & T3y 3nfHat &1 a7 3R gay

gred Y|

c) DEPENDENT <o &r 33 &1 87
d) EMPLOYEE <& &I HIfseifolcr T 87

AadharNumber Name Address Department EmployeelD
123456789525 Rahul New Delhi Finance E101
987654321321 Priya Noida HR E102
456789123457 Raj Gurugram IT E103
DEPENDENT Table:
EmployeelD DependentName Relationship

E101 Sonali Spouse

E101 Ravi Child

E102 Deepak Child

E103 Anu Parent

15. What is a computer network? Explain different types of computer networks.

(4 marks)

S dAcas FAT §? [AffesT TR & Fgex dcas H saredr |

Explain the following:

fafaf@a & sarear fifaw:

i. Modem /ARH
ii. Router / I3

iii. Hub / 89

iv. Gateway / Jcd

OR

[ ar




